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SECTION I: All question in this section are compulsory.

Q.1

a) Choose the correct alternative from those given below:
1) Which of the following is a weak electrolyte?
l. Aq. Sodium chloride | 2. Benzene

(6)

3. Aq. Sodium acetate - 4. Aq. Ammonium acetate

1) A black colour solid which on reaction with dil. Sulphuric acid forms a bl

coloured solid:

1. Carbon 2. Lead (II) oxide
3. Manganese (IV) oxide | - 4, Copper (II) oxide

iii) A metal other than mercury present in liquid amalgam 13:
1. Sodium 2. Potassium 3.Zinc 4. Copper

V) The indicator which does not change colour on passage
1. Moist blue litmus
3. Methyl orange

1. water 2. Nitrogen

v1) The number of molecules in
1) 0.75x6x10 %

less than 7.

is passed through acidified K;Cr,O7 solution.
arium chloride is mixed with Sodium sulphate solution.

_Conc. HNO; is added to zinc granules.
5. Zinc is heated in air.

d) Convert the following: .
1. Sulphur to sulphuric acid. 2. Red lead to litharge

3. Iron sulphide to Iron (IT) chloride 4. Ethyl alcohol to ethene.

5. Ethyne to ethane (one step only)
24,
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uS075H,0, KNO;, NaCl, ZnCO,

chlonde gas.

(4)
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NH; + 0,—> NO + H,0

I Balarice the above equation.

\2J

2. What mass of stearn is produced when 1.5g of NO is formed?
3. What volume of oxygen at STP is required to form 10 moles of the gaseous products /

i) Calcula?c the percentage of phosphorus in the fertilizer Superphosphate- Ca(H,PO,),
(H=1, Ca=40, p=32, 0=16) (2)

[) Give one chemjcal test to distinguish between the foll
I. Ethene gas and ethyne gas.
2. Black carbon powder and black copper oxide powder.
3. Carbon dioxide gas and sulphur dioxide gas.

4. Potassium chloride solution and potassium sulphate solution
@. Sodium sulphate and potassium sulphate.

owing pairs of compounds: (

g) (Sive the structural formula of the following compounds:

(3)
1) 1, 2 Dichloropropane 11) 2- ethyl pentanoic aci iii) 4-m ] hexane
1v) 3- methyl pent-2-ene v) 2-butyne
h) 1) State Avogadro’s Law. (5)

11) Calculate the number of moles of X atc
- 1i1) A gas cylinder holds 85¢ of gas X, The
8.5g of hydrogen under the samé¢
the molecular weight of X.

S 1n 9X‘ =31)

me cylinder when filled with hydrogen holds
perature and pressure. Calculate

onditio

¢ formation of ammonium iony

€ conversion A to D | (4)

Zﬂ(NlOﬂz
B

Zn(OH);
C l lD

Zn0O  Na,ZnO,

b) State: which of the following are oxidised or reduced giving reasons: (2)
i) N— N -
1) ClI— (i
c) Define: i) lonization potential i1) Electronegativity (2)
Contd.3...
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Pa;ge 3
; ,9), Explain the following:
{@’Purf: acetic acid is called glacial acetjc acid, |

1) It js dangerous to burn m

ethane’ 1N insufTicient air.

(2)

)

ce'that reacts with sodium acetate to

give a saturated hydrocarbon,
ed by mixing saturated solutjons of

two simple salts.

(4)
'ii) CH;— O — CH, iii) C,HCI,

D} Arrange the elements of 7A according to :
1) Increasing ionization potential
11) Increasing electron affinity

111) Decreasing electronegativity.

(3)

Z¢
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(1)

¢) Define: Coordinate bond
d) 80cc of racthane is mixed with 200cc of pure oxygen at the same temperature
and pressure. The mixture is then ignited. Calculate the composition of the resulting

mixture if it is ooled to initial room temperature and pressure. (2)

CH,4 + 20,—> CO, + 2H,0

Qs.

a) Zinc is extracted from zinc blende. The zinc blende is roasted. The solid product is

(3)

mixed with an excess of coke powder.
1) Give the formula of zinc blende.

11) Write the equation for the roasting of zinc blende.

x11) What is the purpose of using coke?

1v) Zn is used to coat iron sheets to prevent it from rusting. Why?
v) Give the equation showing the reaction of zinc with boiling NaOH.

b) {Sive scientific reésons:
1) A cation is always smaller than the parent atom.
11) HC] can be termed as a polar covalent compound.
iii) Even though SO; is an acid anhydride obtained during the cc
it cannot be directly absorbed in water.
+v) Lead bromicle is maintained in the molten state
v) Atomic size. of group 18 elements is more than the

ing electrol

of group 17 elements.

Q6.

a) Answer the following questions with

e diagram given below.

Spect t

Pure
"7 copper’

1) Which process does the above diagram represent? Define. (2)
YR edraw the complete diagram by labelling the anode, cathode, electrolyte

usec! etc. (2)

(1)

iii) What i3 anode mud?
b) Underline the odd one giving reason for it being odd as compared to the rest.
) AI(OH);, Pb(OH),, Mg(OH),, Zn(OH), |
ii) HNO,, HCI, H;S0q, HCOOH
iii) H,O, CO, Ha, CO,
(4)

iv) k0, NA,Q, Ca0, CsO,
Contd .5...
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¢} Give the electron dot structure of Carbon letrachloride.

(1)
Q7.

a) Complete (with condj tions if necessary) and balance the following organic equations
and match each reaction to the words given below:

Cy e F\CONgg, ©)

) CHs—+KO >
i) HC=CH + ¢],—>
1ii) CH;0H + 0, —> +

A. Halogenz_ltion ' B. Catalytic oxidation C. Deh ohaloggaﬁon

-b)  What is added to steel to make it stainless steel? (2)
‘ c) [

| (2)

Give the specia] property of duralumin and type metal which make
particularly usefyl |

**:******tt***¢¢******#t*t##i*######t****t**
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